LOsningsgang

TANA21 — Berakningsmatematik

Tenta —2015-01-08

Skriven av Oliver Wettergren

oliwel88@student.liu.se
https://www.instagram.com/olwettergren/



%)

b
n

fon

e

sols

gt om

AS o

W

Wk

e\

Jlﬂj C C“VPQU Y%
I
7
f_P.JW
Cvin
o,
-
e, vy
9 A
St
oo
?Qi%
N\
!
A
Oy

4.
'I%
)

)
204,

)72,

o

35

pw\/\A-Q,f

W ea

T

| Se @urtlhomiivg
e

= S
| (&
IO(G

:i

6| [

’;’__ %\

n

)

a ,

+

1+ 0

\\

q =

%)

(e,

W/\

TULE
?
|, &

\\

—A:

v )
125

mx-t
w2

| &

=

A

A

oC
AN
>



= |ab-o60s |+ w01 |+ |ma -9z

Zz Z\U\CHS
\¥el £ 0%

% A=\1+ 7,3

5) 9 e- (133

7 & =210 2 | O-6 L—%\-U)ﬂfzj_
N 1= )+ O3)

5 L 0|-b 7 S-_z2| O
~2% -5 30 -2-2 | O
T 10 S5 (O
s ~
6 25%-2 |6 73 235 -2



( \ —6> o ~L
2% & |
R ) X, = O+%-(é>29

Xg =024 4-6=2<F
J

o) sbolloe | (A N = 1k

lAlle =9

o Ve o (A" Moo |l ANl - Makllon o U
MXMQ@ Wl Neo _%/

© o] 28 4o so
{D(X\‘ -C)\%S Olyo ~O|ls

Neadom !
QLXN = Cl + (5 LX—%B

P(Lr\ ;CI =G, S



pls) =+ =-g (&

0=65
(=0 (5

=) (<) = 0,5~ 0,65 (5« %) =0,205"

4%

0 ped =C

0,33
pLy) = | - B ( o= >

PS) =C
/> { 6[\: O => Ql__c_)

sl 4% plad) =0
© 9y =t
ofl=g —gt > Ylok -1, ylo)=6

gtg‘ - {ql PIETN CAR Y

Uiec= Yrtn Ll | %5 -5

Y = (}[D « L£(o (é\}: (C;\*l”z( ®|>:(T/)z>



go= (12 )+ LA (72))= (e )

%) g[@\): f—%

e & Gl
o\ n| S/2 lo2<r 20 4R Hes ¢ 2152

t ‘ 0,08FS 0,299 [ 7 12,2 11O

E(?m}/é(m} /x.ZP =

Llio24) [t(s12)= 412
£(8)92)/ (40 7L) <89

b Banps R

LB CAVERE Fln)w o

P; for Sum {URnARdS

P

040\~ (1) nz”
EIN SN

o= ho poy

S —

ﬁ‘?@ﬁuﬂvﬂ@\@k?



